Instructor Directions for Prisoner Dilemma Game

Handout cards

Prisoner’s dilemma

Write on board 

Red: your earnings increase by $2

Black: your earnings do not change but your partner’s earnings increase by $3

Goal: 

Get most points

Winner gets this chocolate bar

5 rounds, first one we’ll do slow so you can get the hang of it

Everyone is going to have a partner, and to mimic the conditions of the prisoners dilemma, you cannot communicate with your partner in any way.  If I catch you communicating, you’re out of the game.

You can play either your red card or your black card, by holding it to your chest.  Then simultaneously we will all show our cards.  

Calculate and write down your points for the round.

We’ll play it five times.  Person who gets the most points gets the chocolate bar.  

Who wins?

· Thoughts on the game

Draw payoffs on board

	
	Black
	Red

	Black
	3,3
	0,5

	Red
	5,0
	2,2


Draw  “Prisoner’s dilemma”

	
	B: Quiet/cooperate
	B: Defect/testify against partner

	A: Quiet/Cooperate
	Both serve one month
	A: serves one year, B: goes free

	A: Defect/testify against partner
	A: goes free, B: serves 1 year
	Both serve three months


· How does this relate to the collective action problem?

· How is social revolution a collective action problem?

· Where is revolution on the chart?

· How is the game we played similar to and different from real world collective action problems, like revolutions?  (know each other)

· What are some collective action problems in your own life?

� Idea taken from http://ideas.repec.org/p/vir/virpap/330.html.





